JUIUNPN=EHLBI~S5I RS (PCTHIV)
SILICON NPN TRIPLE DIFFUSED TRANSISTOR (PCT PROCESS)

O HBEBFVCBEHNEB

2sc 983

Unit in mm

O BRExA»7>7H
51MAX. cls
o Black and White TV Video Output and High
Voltage Switching Applications ! E
K
¢ BEETT: Vero=150V
2045
av s sHHAERENEIN Cop=55pF (Max.) ga 2
. (=]
b Sy Uy ey BEBAE; fp=120MHs (Typ.) .-
~
—
15 15 .
BAEH MAXIMUM RATINGS (Ta=25T) 1 EMITTER
2. COLLECTOR
CHARACTERISTIC SYMBOL RATING UNIT 3 BASE
avzs e —2HEBE VeBO 250 v
JEDEC —
. N 1 ' v
avzg-xsy sEEE VcEO 150 STAT —
T3y _—2WEBE VEBO 5 v TOSHIBA 2-5E1A
a v 2 z2 B K Ig 50 mA SYT—4 «k—r& RE-16 ZHFB
RADIATOR HOLDER RH-16
x 3 P P B Ip —50 mA
2 v 7z x H & Pg 600 mW
P> s & B T4 150 c
i, 5 B B Totg —55~150 c
k

X PCTHRFKIDMEINTNE T,
Produced by Perfect Crystal Device Technology.
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ELECTRICAL CHARACTERISTICS (Ta = 25°C)

CHARACTERISTIC SYMBOL CONDITION MIN.| TYP.| MAX. | UNIT
IV LR IcBo [Vep=30V, Ig=0 - - 01 A
=3Iy F LK Iggo [VEB=5V, Ig=0 - - Lo LA
ERBAMER (Note) hpg  |[VgE=5V, Ig=10mA 40 - 240
Vs S =3y 2MMAIRE VOB (sat)| Ig= 10mA, Ip=1ma - - a5 v
WA=y AMENME | VBE(eat){Ig=10mA, Ip=ImA - - 1z v -
VI YUy e v AES £ Vog=30V, Ig=- 10mA 40 120 - MRz
s vy 2O ER Cob |VeB=10V, Ig=0, f=1MHgz - - 55 DF
N AL E A v ZiE;}Z; fE=—imh - 25 | 60 o)
Note ; hpyp KX D TFRO IS KA WL, BRBRLTH Y 21,

According to the value of hpg, the 25C983 is classified
as follows.
CLASSIFICATION MIN. MAX,
280983 —R 40 80
28C983—0 %0 140
280983 —Y 120 240
—
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STATIC CHARACTERISTICS
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